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I 12 mwn: nnin-actions that are dispensible — in each of these cases, nnn is N1wa
7’y pouring the oil into the flour
712252 mixing the oil with the flour
7mno. making the nnin into separate loaves
Amsp: salting the ymip
A9um lifting the nnn
v bringing the nnan close to the nam
Amwp: if he made the nman into many mna or didn’t put oil on them
i Note: since without any nn'na they would be 2w3, why this clause?
ii ~ Answerl: may mean “if he made many pnona” i.e. they were small — 5"np that there is no minimum v (x2139%)
ili  Answer2: R™v if he doesn’t make Prna at all, it is n5n nn; but here it is Pr'na NN and %00 — %"np
II  Analysis:
a  np¥: cannot mean that he didn’t pour oil in at all — it is 2591 (Yonw 1NV > %1D9)
i Must mean: that a 9t poured it in
ii ~ Challenge: then the “validity” of n%"9a is also being mixed by a 71, but if not mixed at all - %108?
1 Explanation: later (3:0) we learned that 61 177w» must be brought in 2 B'93 because 61 don’t mix well;
(a) Yet: we challenged from our mwn and concluded with (the famous) rule of X711 "7 — must be “able to mix”
2 Answer: the two aren’t meant the same way- njp’® must be done, valid if done by 7t; n%1 is fully dispensible
I Attribution: evidently, our niwn does not square with w™:
a w7 any jn3 who does not assent to the 15 mmay doesn’t get a pon (v.1) — and he lists np>y’ (2 must be done by jn3)
i Answer (279): he’s referring to 02 nnan (or n¥npa NPRY NMn); since it has no N¥np, NN NMxn begins at npy
1 Challenge (837): since np>¥’ of 113 nMan (or N¥NP) NR) is inferred from nxnpa nNIn NPy — should be 712 7w
ii  Conclusion: our mwn does not correlate with v™
b Question: what is 1327's source (for allowing 912 0292y npr¥’)?
i Answer: v.2->v. 3; only after n%521 np>x> do 1R 11 take over
ii ~ @”r the poa reads forward and backward (i.e. demand of 0’03 is back-read to n2%11 npry?)
1 Challenge: in re: v. 4, ™ (contra 1327) does not read a5 to require right hand for oTn nYap
iii ~Rather: ™ reads v (at beginning of v. 3) as connecting the two ("nwRI 1Y 5y 90M 1"M*)
1 Challenge: v™ does not, in re: v. 5, read v as connecting to prior verse; if he did nvo'nv would require 10>
2 Defense: vnw...yao1 (from prior verse) clearly associates n2mo (and nvnw) with owners
(a) Challenge: if so, no'nw should require o'9ya
(b) Rejection: if 17”n, the main n193, doesn’t require *Yy3, then NVNY certainly wouldn’t
(c) Challenge: perhaps that is because 719t may not be done by %y ("1 M¥n) — IWOR RVN TWAR PIT PR
(i) Nonetheless: the nn explicated (v. 6) that the owner must perform nvnw in case of 130X 79 (3”nv)
1. Implication: no others must be done by owners
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